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3.3

 

 

3.3.1

(1)

 

 

(2)

4.3-3  

3  

 

(3)

 

 

(4)

1)

,2006 4.3-2  

 

4.3-2
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4.3-3
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2)

 

0.01  

VL = VL0 20log10(r / r0)n + (20log10 e) (r r0 )  

 [ ] 

L = 10 log10(10L1/10+10L2/10+ ……… +10Ln/10) 

 

3)

4.3-9

 

4.3-9

    
 

[dB] 

 

 
 

 

 
1  

1  60 1  

2  65 2  

3  65 1  

4  60 1  

5  55 1  

 

 

1  

6  80 1  

7  60 1  

8  60 1  

9  65 1  

 

 

4.3-4

4.3-9  
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4.3-4
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(5)

4.3-10  

55dB

 

4.3-10

  

 

 

L10  

 29.0  41.6dB 

 14.5  54.2dB 

 37.8  39.7dB 

 

(6)

 

 

 

 

 

(7)

1)

 

 

2)

4.3-11  

 

4.3-11

 L10   

 41.6dB 60 dB 

55 dB  54.2dB 

 39.7dB 
 1 51 11 10  

90

1

 

2 8 19 19 8  

 


